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MAC 2311 - Analytical Geometry and Calculus I
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Problem 1 Given y =t +sin(t) +2 as t goes from 27 to 1%, 27\ se(E)- 3
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Problem 2 .

Given

flx)=e*—e &,

Find the absolute minimum, and absolute maximum of f on the interval [0,In(3)].
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Optional feedback. Please provide any comments or feedback on how the discussion classes are going.
Anything you would like to see done differently? Are there aspects that are working well and that you
would like to see more of? Or anything that you think will benefit your success in the course?



